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I. Read the passage and answer the questions

The Turner kids were not accustomed to snow. The most they ever got in their southern
city of Birmingham was an inch or so each winter and even that was quite infrequent. What
was funny was that even the slightest bit of snowfall was enough to cancel school and close
businesses.

No one knew how to drive in the snow. It was never enough for young Lily Turner, though,
because the snow that came was always too sparse to build a snowman or to go skiing. But
one night, in March of 1993, something magical happened. An unexpected blast of cold air
from Canada and moist air from the Caribbean converged on the eastern part of the United
States to create the ‘Storm of the Century.’

When the Turner kids woke up on Saturday morning, there was 17 inches of unbelievable
snow on their front lawn and as far as the eye could see. The Turner parents were in shock.
Most folks in town were ill-prepared for such a storm. They had no shovels to dig their way
out and no salt to keep from slipping. They had no idea what to do. While the adults
seemed paralysed with disbelief, the Turner kids set about having the time of their lives.
Lily discovered that a rope tied to a metal trash-can lid made a perfect ski. Rachel made
snow angels in every part of the yard. Together, the kids made a huge snowman and
dressed it in dad’s hat and jacket. For three days, the Turner kids had a splendid time. On
Tuesday, the high temperature rose and life for these southerners went back to normal.

a) What created the ‘Storm of the Century’? (1)
b) The ‘Turner kids had a splendid time’. What did they do? (1)
c) Find synonyms for the words from the passage: i) used to ii) wonderful (1)
d) What was amusing about the snow? (1)
e) Choose the right option: (Y2x 2 =1)
a) splendid is: i) a verb ii) an interjection iii) an adjective iv) a noun

b) trash-can is: i) an adjective ii) a compound word iii) an adverb iv) bad can
II. Read the poem carefully and circle the right option. (Y2 x 6 = 3)

STUDENTS’ LIFE

a)Students’ life is full of fun, They can do both
Work and play. Without any pain!

Their day begins with a prayer, d)They use pens,
And, end with play. They use papers,
b) In school they make many friends, They can draw many things,
And learn many trends, And make many colourful rings.
They even learn values, e)But when March month comes,
Of love and life. They study all day,
c) Studies develop brainpower , They work for appreciation,
Sports develop willpower, And sacrifice lot of recreation.
A. The first two lines of the poem tell us about the life of students.

i) routine ii) exciting iii) daily  iv) playful
B) ‘“trends’in the second stanza means .

i) morals ii) ethics iii) styles iv) routes
C) ‘brainpower and willpower’ refers to their .

i) intelligence and strength ii) mind and bod

iii) physique and cleverness iv)honesty and muscles
D) The other word for ‘leisure’ in the poem is

i) appreciation ii) play iii) friends iv) recreation
E) The word ‘appreciation’ is .

i) a noun ii) an adjective iii) a proper noun iv) an adverb
F) Find the right word to complete the sentence below

‘No is too great when it comes to one’s child’s future.’

i) life ii) sacrifice iii) work iv) love



III. Write a paragraph on the topic ‘Importance of sports in a student’s life’
(100 words) (4)

IV. Read the telephonic conversation between Rajesh and Vishal. Rajesh is
going for his tution class, so he leaves a message for Manav. Write his
message in not more than 50 words. (3)

Rajesh: Hello! Could I speak to Manav?

Vishal : He is not at home. May I know who is on line?

Rajesh: I am Rajesh, his classmate.

Vishal : Rajesh, I am his elder brother Vishal. How are you?

Rajesh : I am fine. Could you take a message for him?

Vishal : Yes sure.

Rajesh :Tell Manav that I need my Social Studies book that he had taken yesterday.

I have to make a school project. I also need his help in completing this project when

he comes back.

Vishal ; Ok. I will convey your message.

Rajesh : Thank you. Bye

V. Edit the passage by correcting the underlined word (V2x 4 = 2)
Children are individuals in his own right. They a)
are a mind of their own and know what b)
she want. However, when adults deal with them c)
theyare an arrogant attitude. d)

VI. A. Fill in the blanks with correct form of the word given in brackets:
(]/2 x2

1)
1. It (begin) to rain just as we moved out.
2. [ did not see that the teacher (stand) behind me.

B. Identify the sentence which is written correctly. (1)
a) Saffron is most expensive spice in the world.
b) Saffron is the most expensive spice in the world.
c) Saffron is the most expensive spice in our world.
d) Saffron is the most expensive spice in world.

C. Arrange the jumbled words to make meaningful sentences. (1x2=2)
1) can / a day/ dripping/ waste upto/ water in/ six litres/ of/ taps
2) of their/ World Cup/ proud/ performance /made us/ in the/ Indian team/ the

VII. Read the given extract and tick the right options. (3)
1. T’'m terribly cold. Couldn’t we go to a café or a bar somewhere that’s warm......
a) Who spoke this line?
b) To whom was it spoken?
c) Why was this line spoken?

VIII. Answer the following in 3 to 4 lines (2x3=6)
1. How does the spider lure the fly into his parlour?

2. Why did Soapy want to go to Blackwell Island?

3. ‘Luck did not favour the couple on the mountain resort.” Why?

SINDHI HIGH SCHOOL,HEBBAL
FORMATIVE ASSESSMENT - IV (2015-16)
SUBJECT:- L2 KANNADA
Class-VI Marks:- 30
DATE:- TIME:- 1 HR

|.8s dEgrenssy 6.8, 70 RS T o, TZTRET 03,0k
0B,eT,003)me300 ROIE,EQ00T 293,80, Qe300 30, BROTO, 3008 FOWAOITDH0IR
BeOTTA0IR TOT BIPRTTV.2.00BY, BRENY @3H0IS 0doe BR0WB), SRETY ToO

T TTOTOE WPPITPTY, TP @Jaea?uddo.ﬁdawcmwmﬁd,w@w&,woém’dado,afoﬁ%fdado



JYNY @a;’)w@a@ﬁ QYRT0 ﬁdﬁ@tﬁ)ﬁ@ad’.ﬁ’d@%@%mﬁd,aﬁ@ﬁ@ B QY JOOOPO

008,003, Te30 3080300, LIFMOE ToToRETHITONES.

@%ez&do&oﬁaﬁcﬁo 18613030 /T Feg,0200° 1500030 FooedTE Fueeewnsedesd oo 23%,2099,5500
OO 3 mqeaa%woq 0B T80T VAATTV. BoTW 8 eQe0TTOA TN afos’aimé.
WBBTI00  OF,eT,T03TRT BHTIDY .LBMH THROTFY ZE0AWD.187588, Soniwedrs
00T TP VOV QWYLYR 3000 0ATT.e0T ToT TeP TOTOTAITY, ¢v08d.188138
0.0.BOAITROB) DTYRE 3eBTW TTIV0T TRTD JoBV0I00® TofeRdTS — HowD0Or®
BRBTROBT. YD) [IT W13 SPTNFYT WBYR), JT.

TB,nP0:-

l. OF,8,000FHR 030 BY,000, BAXTT? (1)
2. DBeBToNTHT Ba), YORD0POTF BHED0NDY, O TETTR? (1)
3. FTFHITT 03T IHTHEY YodTWe DB B ToNEHT WEHE SomedeBRERNES? (2)
4. DB T03THT B0 ToM0RH TTTeD0? BT 03RYTT, FTTOY,? (2)
I1.9ey Boed TwoRE 000 A, B¢0d/85R00 B 20TNV. (3)

IH.s=0eeme),  @wesdmod 203a0. (1x4=4)
L ooy 2503 (8 BR0D NG BF 30W0)

2. 38 2.0390 ( B8 0os S[WOYD TSewers 0TAB)

3. Sorssy, ( S8 DBd T BTOV)

4. O ( ®,08 oF; SHPR)

V. B0ed803008 20800. ( V2 x4=2)

1. &oQ7: LoD 15 2o N e L —

2. msﬁcﬁa@): wa’mawu:: 03NPVI:

3. /E0P: [pEn Posdeodd:

4. 99T WAF:  SBROToNBIB oy T3 N0B:

V.8 ¢80 dnfitos wxmi-e0d) FZRV0 xeT md evs onDy, 0k 03od.

( V= x6=3)
1. 25988¢030809) 2,080 DWF T0BH 030 ORI, T,BEF T, FNeH;Bet SensoeERY,

FIE Doxy) BT, 00NVEIB 65— DO BePTHR.

1. ooE0meRER® T)ey oF 2. Oghoeps® st
3. donimen® Ty o° 4. QTP TyH °

2. ©T0xP0ET BoB0WT 20T VBRET T ——--TeBT, éd@zﬁodo.
1.23830€Q 2.59908, 3.e95300% 4. D58,

3.‘00008y) 200830 B0, CedATeBT0———-

1. duac%dori’eﬁacs 2. zb.@o.@e?ododo?s
3. SeRdd THOHTOTD® 4. Fos30&0
4. DDy BT, DT/REN ————— Q0 VeTTVY, FORTITD
1. 230830 2. 2000830 3. DO 4.38830
5. o0& 2203w ——-— 20
1. e 2.550050% 3. AY 4. ﬁoa?)w
6. OO 65@"’%@@5 ————€éodoe3ﬁwoé BRY 0000 T3.
1. 6-;)&3 2. Toe3edD 3. = 4.0,
£ N
VI. %’Jaésddoas ga‘ddéﬁ 2-3 mﬁédeﬂm ev3 BA. (3X2=6)

l. S0mdT @ommody NF SR eF?20300e3T00T B 03oedeso?
2. ToBEY TH BRRT JTANDY, DO Ty, OB, IFos0se,I?
3. 8¥T0wP0ET B0 TLWON TRITED?QIT BoIRTY 0350eHT0?



VIl. Seth-moen, o3,ned) evs ol (2x3=6)
1. So0D0030 mmwmoz a&ra&%’&mﬁaﬁow gab Der3?
2. 830003807 TRTS @5?\)_;?%5’ ﬁﬁdmd 8.

SINDHI HIGH SCHOOL,HEBBAL
FORMATIVE ASSESSMENT - IV (2015-16)
SUBJECT:-SOCIAL SCIENCE

Class VI Marks:- 30

DATE:- TIME:- 1 HR

I. Answer the following questions

1. Where did Buddha give the first sermon and what was it called? (1)

2. Name two Indian research centers located in Antarctica. (1)

3. What is nyayapanchayat? (1)

4. Who is a sarpanch or pradhan? (1)

5. Name two famous residential universities in Bihar. (1)

6. Which layer of atmosphere support life. (1)

7a. What is panchayat raj system (3)

b. Give one achievement and one shortcoming of the panchayati Raj system.

8. a. Define atmospheric pleasure. (3)

b. What is the effect of height on the atmospheric pressure and temperature of
the earth?
9. (a) What is the need for reserving some seats in the representative bodies for the
SCs, STs and Women? Explain briefly. (3)

(b)What percentage of seats has been reserved for women in the panchayat

10(a) Why is the earth called a unique planet? (3)
(b) Describe the importance of various gases present in the atmosphere.

11(a) What led to the rise of new religious ideas in India in the sixth century BC.
(b) Name the religions which were called reform movements. (3)

12. (a) Mention any one points of similarity and dissimilarity between Buddhism
and Jainism. (5)
(b) Who is referred to as Jina or the Great Conqueror? Why?

13. What is atmosphere?
Draw a neat diagram showing the layers of the atmosphere. (5)
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1. Construct a frequency table for the following : (1)
3, 2,5,4,1,3,2,2,5,3, 1,2, 1,1, 2, 2, 3,4, 5,3, 1, 2, 3,2, 1

2. Write the following using literal numbers, signs of basic operations : (2)

(a) One — third of x multiplied by the sumof a and b.
(b) Thrice x addedto y squared.

3.(a) By how much does —4 exceeds -7 ? (2)
(b) Find the value of 6 — 10 using the number line ?

4. Surabhi and Harshita are sisters. Surabhi is four years older than Harshita .
The relation ship in their ages in terms of a variable x is given in the
following table . Complete the given table . (3)

Harshita ‘s Age 1 12 |4 8 12 | x




Surabhi ‘s Age

5. The modes of travelling to school by 100 students are given below:

Mode By Walking On Bicycle By Car By Bus
No. of students 30 50 10 70
Draw a pictograph. (3)
6. Simplify: a) 84 + (—99) + 33 — (—28)-46 (3)
b) (- 1483)-(—8350)

7. In a survey of 130 families of a colony , the number of children in each family
recorded and the data has been given below:
No . of children 1 2 3 4
No. of Families 20 35 63 12
Draw the bar graph and answer the following questions ?
(a) How many families have more than 3 children ?
(b) What percentage of families have four children ? (4)
8.(a) On a straight road , there are four cities A, B, C, D . Distance between B
and D is 39km , Distance between A and Cis 27km and between C and D
is 15 km. How faris A from B ? (2)

b) Find the Sth | 15th  30th and 100th term for the given sequences :
4,8, 12, 16, 20, 24, .... (2)
9. Take Mohans present age to be x years .
(a) What was his age 10 years ago ?
(b) What is the age of Mohan’s maternal uncle if his uncle is 4 times his age ?
(c) Mohan’s maternal Grandmother is 35 years older than the Mohan’s maternal
Grand uncle.. What is the age of Mohan’s maternal Grandmother?
(d) Mohan’s mother is 8 years older than 3 times Mohan’s age. What is his
mother’s age ? (4)
10.(a) Which is greater: Successor of sum of —65 and 45 (or) Predecessor of
sum of —14 and —4

(b) Write the additive inverse of : (i) —57 (i O
(c) Write the following integers in descending order : -365, - 515,102, 413, —7.
(d) Write four integers less than —10 (4)
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SECTION - A PHYSCIS

1.Complete the cross word with the help of the clues given. (3)
( Don’t draw the cross word, put the question number and write only the answers)
Across

1. Device that glows in a circuit.(4)

3. Makes and breaks the circuit.(6)

4. Stores electricity.(4)

6. Filament used in the bulb.(8)

Down

2. Group of electric storage device.(7)

5. Used to connect the components of the
ciruit.(4)

. Draw a closed electric ciruit and label the components. (3)
. Differentiate between conductors and insultors with examples. (3)

W N



4. What is a solar cell? (1)
SECTION - B CHEMISTRY

1. Why woollen clothes are good to wear in cold weather (1)

2. Write any four advantages of cotton clothes. (2)

3. How jute fibre is obtained from jute plants? (2)

4. What is sericulture? How is silk obtained? (2)

5. Differentiate between natural and Synthetic fabrics. Write two examples for each.
(3)

SECTION - C BIOLOGY

1. It’s not easy to pull a plant from the soil. Justify. (1)

2. Describe the function of the leaf tendril and stomata. (2)

3. Differentiate leaves based on its venation. (2)

4. List any 4 important functions of the stem. (2)

5. Draw a typical flower and explain its parts. (3)
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